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� �6 +�رد $?< د��� !�=، m10000و m1000" �;: ا7رض ���اوح +�" د *� ا�67اء ا����4 2�3 ار$&�ع /��.�ن ا�,
�E$.GH3 �I�3% ا�?&� /���D در�6 40در�6!�ار$B إ�2 أ@< /" � >?$ G@و ، �#�J��+ �;,$�/ 2�,$ K �/GH3 د��L !,� /" ا�,�$ 

Mإ�2 و �Iرب����  . Km/h 160 : �;: ا7رض إ�2 /� �
 �Iد آ�����;�  =G�g 13mرس !�آ� !,� /" ا�,� "/ �I(�� �#." . +Gون ��h=1500m  ��RG+ �3 2�3 ار$&�ع Oأ��Hء �

�ه� ;@ ���  . : d=3 ,0cmا�3,�ر !,� ا�,�د آ
 �;�Hا� �S��Oر�E#� TMأ OZ >&�7ا �E� B6�/ .U+�� ����Uة ا�GW �  .go = 9,80 m.s-2 :� و@�#��I و��4,

YZ!V = 3 آ�ة : �4;� 

3

4
r×π ZEاء ، ا�.��� ا��I�� ��#ρρρρ = 1,3 kg.m-3.  

1-  �Eط ا��� ا��
�,< أن !,� ا�,�د � ���ط !� �*.  

�Hء  �E,� ا�,�د أ�G+�;,�_ ا�����ن ا�G! ، "$��H� ���Uد ا�#�4دKت ا�]/��H ا��� 4$;� ���3 و/�[\ /�آ] ا��?�ر 1-1
 �I(���.  

1-2  �3� �;: ا7رض ، ه< $��ا*_ ه�` ا���#� /\ $�( ا��اردة *� ا�#4;��ت ، إ�2ا��� $?< +�I !,� ا�,�د ا!�
 @�#� ا��
 �Z��H�3< ا�. 

      2- ����Eط ا���  ا��
 "�$�Sد إ�2 @�$�" أ��� ، $ab\ !,� ا�,��Eس :           *� ا�G�#Sدا*�4 أرAF

�

F  اd!�.�ك ا�#�R\  و@�ة
�


��H�$ ا���  
 �I$GW =�! �3� .F = K×v² ا)�ادا /\ /�+\ ا��

  . *� ا��fHم ا�G!���  �#��4ات K  +���4#�ل ا����E< ا�,G4ي ، !Gد و!Gة ا��4#/< 2-1 
    2-2 L3أ ، �I�#�@ 
  .�Y ا��h�H @�ر�GW \/ �Iة وزن !,� ا�,�د  4$,�� دا*�4 أرG�#Sس وا!�

   �I#< دا*�4 أرG�#Sس ،2-3  

�آ� ، +�" أ�B �#." آ��+��I 2�3 ا�j.<   ) أE�� ���]�&ا�#�4د�� ا�� G62 :أوB.vA
dt
dv

−= 

�� ر@#��  ) ب����G !< ه�` ا�#�4د�� +;� :���  أو����( (EULER )  . ب��6]ء /" ور@� ! B�&ول أ�GZ4;� ا��
��#��" � ا�#�ا*�، ا�]/" +��KG، (a) وا����رع (v)ا����3ت  ��  :A = 9,80 m.s-2 وB = 1,56××××10-2 m-1    

 .S ،∆∆∆∆t = 0,5 s;�ة ا�E��ب 
�� اv5  و    G!a4د ��( �E]�/    ب��E�.  

 
� 3" ا���#� ا���GE  �) ج,�3 3�� ��KG+ د�وA!,� ا�,

  B �I�#�@ 
  . ،  �Y ا!�
�4;� ا�#2HEH  *� ا�j.< أ�&�B ، $;�ر ا����3 ) د

 �I+��! Y$ ا��� ��GE�3 ا��+��KG ا�]/" ، أ وG6 /,����� @�#� ا��
 .*� ا��lال ا���+_ 

 

 
 
 

t (s) v(m.s-1) a (m.s-2) 
0,00 0,00 9,80 
0,50 4,90 9,43 
1,00 9,61 8,36 
1,50 13,8 6,83 
2,00 17,2 a4 

2,50 v5 3,69 
3,00 21,6 2,49 


